Answer Key: The Industrial Revolution BrainPop

1. When did the Industrial Revolution take place?
· 1700s-1900s
2. The powered loom made textile production easier. Which word means the same thing as “textile”?
· Cloth
3. Describe the impact (effect) COAL had on the Industrial Revolution. (ANSWER IN A COMPLETE SENTENCE)
· Coal was used to power machines during the Industrial Revolution. 
4. Describe how the first Industrial Revolution was DIFFERENT form the second Industrial Revolution. 
· The first Industrial Revolution was centered in England while the second Industrial Revolution was centered in the United States.
5. Which of the following was developed during the SECOND Industrial Revolution?
· The steamship
6. If you worked on an assembly line, what might a typical day be like for you?
· If you worked on an assembly line, you’d perform the same task over and over again. It would be unskilled labor.  
7. The making of the automobile was made possible because of:
· The digging of oil wells.
8. Name one NEGATIVE impact of the Industrial Revolution.
· The use of child labor, pollution.
9. Which of the following was a major result (effect) of the Industrial Revolution?
· People move from agriculture (farming) to industry (factories).

